Monday

y Power Up

Use the patterns to help you complete the number sentences.

4345+10 = 4345-10 =
4345+20 = 4345-20 =
4345+30 = 4345-30 =
4345+ 40 = 4345 - 40 =
4,345 + = 4,395 4,345 - = 4,295
4,345 + - 4,345 - =

I can see which digits change -
and which stay the same.




Subtracting two 4-digit numbers @
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a) What is the mistake in Aki's calculation? Explain what Aki has Th H T o TR H T O
done wrong. :.”. OEEORN yY['2 5 0
b) How much orange juice will Aki have left? J‘gl R | T e D
_J8 3 o0

1,250 - 420 = 830. Aki will have 830 ml of orange juice left.




Think together
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‘ Aki had 1,750 ml of mango juice, but he spilled some. ‘[
He has this much left. ‘
How much did he spill? s J
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Aki spilled ml of mango juice.

Aki has 1,725 ml of pineapple juice. He has 1,175 ml of apple juice.
How much more pineapple juice does he have?
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Aki has more ml of pineapple juice.

I think I have to find the
difference. I wonder how to
show that with equipment.
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a a) Reena wants to work out 3,455 -9 =
Which method do you think she should use?
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I wonder if a column Th H I IO
subtraction like this is 3 4785
the best method to use. - 9

3 4 4 6

I think I can use a
mental method.

I wonder if using a
number line would help.
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Why might it be better to use a mental method for this
calculation?

b) Which mental method would you use for each of these
calculations?

24991-2=

2,001 -9 =

1,001 - 999 =




Subtracting two 4-digit numbers @)

n Complete the subtractions.

a) 4362 - 247 =|
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b) | = 1,454 = 1,270
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a Jon wants to visit his friends. Kate lives 349 miles
away. Bella lives 1,356 miles oway. How much
further oway does Bella live than Kate?

Bello lives D miles further away.

° Complete these subtractions.

a) 9375 -8293 = ¢) 9375-8239=
ThHTO ThHTO
b) = 8375 -8293 d) 7375 -239=

6 Find the missing numbers. '

a)

b)
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Show the mental method you would use for each of
these calculations.

a) 315|-5=[:] d 325l -3145:[:]

3251 3.251

b) 5.05I - =4 d) 4.982 = 4,99 - [:]

Retiec

Write and solve a subtraction that needs an exchange of | hundred
for 10 tens.




Tuesday

y Power Up

Use the patterns to help you find the missing numbers.

2753 +100  =| 2753100  =|
2753 +200  =| 2753 -200 =

2753 +300  =| 2753 -300 =
2,753 + = 3,153 2,753 - = 2,353
2753+ |- | 2753-[ |-
2,753 + : - | 27s3-[ |-
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" I have noticed something about the 10s :r{/

. and Is. I wonder if this will always be true.
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Subtracting two 4-digit numbers €)

gpn = 28

a) 1,450 - 849
" I think this I will start with the
| I'have saved 4 needs two Is and check for

£1,450. J % exchanges. exchanges as I go.

Large screen TV
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o a) Jen buys a laptop. How much money does she have left? ::g:‘ VRO - 8 4 9

b) How much money would Jen have left if she bought the ¥ LU
tablet instead? 1,450 - 849 = 60I
Jen has £60I left.
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g Luke has saved £1,880 to buy the big television. How much more
b) [ £1.450 ] does he need to save?

I know how much

— less the tablet is £2.450 Th H T O
[ £84% £60! than the laptop, _ ( L \
so I can work out
<—0> ?

I] £30 Of’b@ how much more EhEED : ”

e money Jen would
849 - 549 =300 have left.
601 + 300 = 90! B

Luke needs to save £ more,

Jen would have £90I left if she bought the tablet instead.

. a) In a sale, there is £199 off the price of the small Cf'ALLE;JGE
Think together e television. How much does it cost now? S
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It looks like I only
~  have to exchange

0 What is the difference in price between the two televisions?

Sometimes you 1 will make o for mors ls hsre.
will need to sure to write
exchange into a the subtraction >
column that you carefully so ThH T O
have already each exchange I 2 % 5
exchanged out of. ‘ is clear! - | 9 9

T™h H T 0 Th H T O

@@ 0000 OGO 2 4 5 0 Complete the calculation. Is Astrid correct? Explain why.
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b) Make up three more calculations that also work like this.

The difference in price between the two televisions is ‘




Subtracting two 4-digit numbers €) P —

Max scored 2,335 points in a game. Isla scored 418 fewer points. Solve _ ThH T O
How many points did Isla get? e % Less =T
™ ™ T 0 ThH T O Q449 - 777 = _
- 4 1 8 8.449-777 = because...
2335 -418 =
Isla got points.
° Complete these subtractions. o Complete the table.
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1,25 - 182 = 2292 - 1,199 =
3.258 - 329 -
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3,150 - 225 = = 3,150 - 1160




Explain the mistoke and show ' ThHTO
the correct calculation. 3 4 | 2
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The mistake is that

it is to the guinea pig's
weight.

0 richord thinks that the
rabbit’s weight is closer 5
to the cat’s weight than
@

Do you agree with Richard? Explom your answer.

Explain how you can tell if you need zero, one or two exchanges in o
subtraction.
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Wednesday

y Power Up

Sort the calculations depending on whether you would solve
them mentally or solve them using the column method.

A 4,000 - 3,500

1,000 - 20l There is something
3.894 — 1.278 about the numbers in
some calculations that
3.284 - 3,526 makes me decide to
5,555-3.333  solve them mentally.

2,899 - 900

Mental Column
method method

T MmO N ™

What rules or strategies help you to decide whether
you will solve an addition mentally or using columns?







